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IloryyeHne HEKOTOPLIX ra3oB

Dop-
MyJa
rasa

HCl1

H,S

Cnocobsl moIy4eHUu A

B JJabopaTopuu

Zn + H,S80, =ZnSO, + H,T1,
20%
Ca + 2H,0 = Ca(OH), + H,T,

2Al1 + 2NaOH + 6H,0 =
= 2Na[Al(OH),] + 3H,]

2KMnO, = K,MnO, + MnO, +
=051,

2KCIO, = 2KCl + 30,1,

MnO
2H,0, === 2H,0 + 0,1

B IPOMBINLIEHHOCTH

t
C+H,0 &—=CO+H,,

3JI. TOK
2H20 m 2H2T + 02T9

3Ji. TOK

2NaCl + 2H,0 ——
— 2NaOH + H,t + Cl,1,

t
CH, + H,O=CO0 + 3H,

W3 xxuaKoro Bo3gyxa
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2MnF, = 2MnF,; + F,!

MnO, + 4HCl = MnCl, + Cl,T +
+ 2H,0,

2KMnO, + 16HCI1 = 2MnCl, +
+ 5Cl,1 + 2KCl + 8H,0,
KCI104 + 6HC] = KC1 + 3Cl,1 +
+ 3H,0

NaCl + H,SO, = NaHSO, +
TB. 96%
+ HCI

H, + S = H,S,

FeS + H,SO, = FeSO,+ H,S1
20%

t, 3J1. TOK

2KF - HF
—> 2KF + H,! + F,1

aJ1. TOK

2NaCl + 2H,0 ——
—> 2NaOH + H,1 + Cl,1

H, + Cl, = 2HCl,

CH, + Cl, —> CH,CI +
+ HCI




Mpunoxenne 11

Oxonuarnue mab.

Dop-
MyJia
rasa

NH,

NO

NO,

CcO

co,

CH,

Crnioco6r! mostyueHus

B 1abopaTropun

Na2803. B + 2H2SO4, KOHI é

= 2NaHSO0, + H,0 + S0, 1,

Cu + 2H,S0 L

4, koum

= CuSO0, + 2H,0 + S0, |

NH,NO, = N, + 2H,0,

KNO, + NH,Cl =
=N, + KCl + 2H,0

Ca(OH), ,,+ 2NH,CL, =
= CaCl, + 2NH,! + 2H,0

3Cu + 8HNO,(30%) =

= 3Cu(NO,), + 2NO1 + 4H,0,
2KNO, + 2KI + 2H,S0, =

= 2K,S0, + I, + 2NO1 + 2H,0

Cu + 4HNO4(68% ) =
= Cu(NO,), + NO,1 + 2H,0,

2Pb(NO,), =
— 2PbO + 4NO,1 + 0,1

H,S0, (96%)

HCOOH
— CO1 + H,0,

Zn + CaCO, = CaO + ZnO + COt

CaCO, + 2HCI =
= CaCl, + CO,! + H,0

CH,COONa + NaOH =

B IPOMBIIIJIEHHOCTH

S+ 0, = S0,

4FeS, + 110, =
= 8S0,1 + 2Fe,0,

W3 »xuaKoro sosayxa

t,p, Fe
N, + 3H, —— 2NH,

N, + 0, ——2=F% oNo,
ANH, + 50, = 4NO + 6H,0

2NO + 0, = 2NO,

CO, + C £ 2C0,
C+H,0=CO+H,,
CH, + H,0 £ CO + 3H,

CaCO, = Ca0 + CO,1,
C+0,=CO,

MeTaH — OpUPOAHEIN ras




